2 cm QI7F?

cm



Moz 2A Q.

s
L

+ @HE ol H HielA]

717}9] Ege] Yol

2.

wldel [ [ ]




ofe) WA e Holg F5HAS,

10cm

~4cm”

cm



e ANAEAU. o] AR Ee7t 30em D ©, @

29 emYY7E?

Os =

4.

3cm

cm




#1o] Zoli= @ om A7}

by

cm



cm




S#o] Zol7} 717} 36em oF 68em A AAZHHO] AgUT &
HA2Eg o) g o] oo A Anteluzty

D 4em @ 5cm 3) 6cm @ T7em 3 8cem



--18cm--



oh ol A AEe BRo] Yol 273 em? o]tk A4 9] 72
L9 em QX LA L.

21cm




@ 140cm?

@ 340cm?

24cm

@ 200cm?

B 480cm?

® 280cm?



11, AAZ1E 8okl el $57 F910) 2& wEeiey o] W)t
2028 em? 7+ H| AU S5

F7bel dols 2 em? IU7R?

cm



°]17}F3=cm Q

H

cm ,

<t I~

ol 9

12.

0
HH
&)
e
g
~3
B
HO
B!
W
= R
S I
0 ,m.b
3 %
2y
MMQL
m
ﬂAr Ot
ﬂoﬂx
=} E._
° o
w3
g
{1 o
% T+

§+2><5

5
3
5

X 3
= X3=+2+5H

4
7
1
7

@ 9
@ 9

3
—+3=-=2
3 X 5
3
3
3-+2-5
+ 5

7
4
- +3=-X2+5

4
7
4
7

D9
@9
® 9



13. o HArztg o] S| o] Zol7} 48cmolal, Al=27} 712 9] Zo] e 2
Ayt o] A o] Wols B em? Q1A oHA] L.

Ct-
B e em?



14. @2 @ F4 o o] dnht o W&UAAY

@ : Sd7F 48 cm ©] T 7F2 7} 14em Q1 FAFZEE 9] Y o]
@ : E37F 52em Q1 HAHS
@ @, 4cm? @ @, 4cm? ® 6. 16 cm?

@ O, 18cm? ® @ . 29cm?



15.

A3 0] Yo7} 84cm? o] 1, WH o] Zo]e}

E
Zeaky s, 15 P o) 7

@ T7Tem 3) 10cm

=

il
o

=
17} old AL 12X Q.

@ 12 cm

=0]7} 5cm Hoh

3 14cm



